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Attempt All questions. Calculators with simple arithmetic functions are allowed. 

Statistical tables and graph paper will be provided.· 

-~ m cfi· ~ ~ I W'tffi'UT aiCflJifukll<:! Cfif4 crffi' ~flctl,&k:{ 

cnT >PWT l1P1 % I Bif&O!Cfll<:! dlf(1Cfll~ aW ml:fi ~ ~ ~ ~ 

1. (a) What is a frequency distribution ? Describe any two ways of representing the frequency 

distribution graphically. 1+4 

~ fqct{UI q<:ff % ? ~ fqd'(UI 'Cfll ml:fi &fU !>ifu(C\fyct ern- tfi ~ 

W ~ cnT crcrR Cfll f\ll~ I 
P.T.O. 
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Or 

(3lWJIT) 

1508 

(b) What is Measurement ? Briefly describe the various scales of measurement. 1 +4 

lWR cpn ~ ? lWR Cfft fqfcq;;r JOilqf•P•i'i CfiT m~ CI11R Cfl1F~~ 1 

2. (a) Construct a frequency polygon for the following data : 6 

f1Cif~f~C1 ~ ~ ~ ~ ~ ~ f1fi:fa Cfl1f\il~ 

Scores Frequency 

52-55 1 

48-51 0 

44-47 5 

40-43 10 

36-----49 20 

32-35 12 

28-31 8 

24-27 2 

20-23 3 

16-19 4 

N = 65 

(b) Calculate P 60 for the above data. 4 

~ ~ ~ ~ ~ ~ P60 CJiT TfURT Cfl1f~~ I 
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3. (a) Describe the different measures of central tendency. If a researcher funds 

that the data is skewed, which measure of central tendency should be used and 

why? 3+2 

~ ~, ~ ~ cfi fclfcq;;f llfCIT CfiT Cf1JR Chl r~ ~ 1 31lR ~ -m~ en) ~ 

m fCfi ~ ~ ~ t ~<sJ ~ ~ cfi" ~ lW:r CfiT -m Cf>T-1T ~ 

afu:~? 

Or 

(~) 

(b) Give the properties of standard deviation. Under what conditions, standard deviation 

is not an appropriate measure of variability ? 3+2 

~ fq:q~H eft fq:fl~olan CfiT Cf1JR Chlf~4 1 m qf<f~fd4'i -q ~ fqoq(11 

qf{qcf;:fl~dl CfiT ~ ~ lW:r ~ % ? 

4. (a) Calculate the median and standard deviation for the following set of scores obtained 

by the students on a test of perfectionism : 2+4 

flcffff62dl cfi ~ "tW&TUT 1R ~$:it &m >rfC{f fcflQ: -rrq: f~¥11f(1Rgd a:icf;1 cfi" 

fflj=c:q~ cfi ft;m: l1uiTcn -q:cf ~ fqoq(11 eft llURT Chlf~~ 

34, 25, 21, 24, 29, 18,_ 15, 25, 32, 30, 28, 19 

P.T.O. 
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(b) The mean of a set of 5 scores is 20. Four of the scores are 22, 24: 30 and 14. Find 

the fifth score. 4 

5 \IIIC{licnl ~ ~ fPj)"riq£1 Cfil ll~ 20 % I -:qR \IIIC{IICf) 22, 24, 30 ~ 14 

% I ~ \IIIC{liCh cnT ~ ct~lf-JJ~ I 

5. (a) Describe the nature of normal probability curve. 

flllOII«:f \lllf.qCf)dl ~ ~ ~ Cfil CfUA ct~lf-JJQ\ 

Or 

(~) 

5 

(b) What are the characteristics of z-scores ? How are they useful in psychological 

measurement ? 3+2 

z- Sll C{1 i cnl CfiT fed! tSI d I~ cp:rr % ? JO!.fl ~ ~11 f.1 Ch 11fiR -q ~ ~ >rCflR d4 4'P n 

% ? 

6. (a) In a normal distribution of 1000 aptitude test scores with a mean of 60 and a standard 

deviation of 8, how many scores : 6 

(i) fall above 7 6 ? 

(ii) below 52 ? 

(iii) between 58 and 70 ? 
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60 ~ 11'afl1R ~ 8 ~ l1ACfi fct ;:wH ~ "BT2l, 1000 4)J lfC11 ""Wa;rur Slll(1 i ct> 1 

~ ~ '8141'""'4 fqq{OI if, ~ Sfll(jjCf) : 

(i) 76 ~ ~ ~ ? 

(ii) 52 ~. ~ ~ ? 

(iii) 58 ~ 70 ~ 11Uf ·~ I 

(b) The Wechsle_r Adult Intelligence Scale has a mean of 100 and a standard deviation 

of 15 : 2+2 

(i) Find the z-score of an IQ score of 108 

(ii) Find the IQ score for a z-score of -2.20 

~ ~ ~2J(1\Jifl ~ 'Cfl1 11~ 100 ·~ l1ACfl fctoqfl'i 15 -%" 

(i) 108 ~ ~ ~ Slll(1iCfl ~ ~ z-SIIl(1iCfl 'Cfll ~ Chlf-ll~ I 

(ii) -2.20 ~ z-SIIl(1iCfl ~ ffr'Q: ~ ~ Slll(1iCfl 'Cfll ~ Cfllf-ll~ I 

7. (a) Explain the ~ssumptions of Pearson's correlation coefficient. 5 

Or 

(~) 

(b) What is a random sampling distribution of means ? How is it useful ? 3+2 

~~ ~fct"qlf'i 11~ cflT fct(l{UI cp:fT -%" ? ~ ~ m d4lf)J0 

-%" ? 
P.T.O. 
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8. (a) ·compute Pearson's correlation coefficient for the following data: 6 

f.•p•r:t f(.1 r@ o ~~~ fq~HH 'EH?fl~'tl ~ cn1 TfURT Chlf~~ . . 
X y 

30 72 

34 70 

35 76 

36 80 

39 73 

39 79 

40 76 

40 83 

(b) Given a normally distributed population with ~ = 120 and cr = 10, if samples of size 

25 are drawn at random what is the probability of obtaining : 

(i) a sample mean of 118.25 or lower 

(ii) a mean that differs from 120 by 2 points or more ? 2+2 

11 = 120 ~ cr = 1 o ~ w21 ~ '8141'""4 ~. "U FCioR:o · \i"I'"F8&11 ~ -rrc:fi %, 

WR · ~~~f-iijCfl ~ "U 25 ~ 3"ITCfiR ~ Slfa~~f fum: \lfRr t "ill f.1t:r1f<.1ftJo >rr:Cf 

CflB Cfi1 cp:ff Sll f.q Cfl d I t : 

(i) 11s.25 ~ ~ m "Cfll Slfa~~f 11'tlf11R 



I_ 
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9. Answer the following questions : 

(a) Differentiate. between descriptive and inferential statistics. 3 

(b) The following information is collected from students in a college during the fi.rst week 

of classes : 

(i) Amount of time spent in the library 

· (ii) Number of books issued from the library. 

Classify the above variables as discrete or continuous. 2 

f.:p:"1f<1f@d ~ ~ ~~lfct~l<1'4 # >J~ ~ cfi ~ cfi ~ fcmlf$it 

-B ~ Cfft TPfT ~ : . 

(i) 9)«1cfil8'4 # ~ ~ ~ Cfft 3lCff'tl 

(ii) 9)«1 Cfll <1 '4 "B f-1 J ffq d Cfft TPfT ~ I 

"3ilR ~ ~ T.Rl "Cfll ~ 7:ff f.riw # cjJ IT<f d Chl r~ ~ I 

(c) What is the difference between a variable and a constant? Explain using an appropriate 

example. 2 

~ -:q{ -q:cf ~ ~ # ~ aim: ~ ? ~ ~ d~l~{ol &m 041~1 Chlf\ll~ I 

(d) Which type of data can be represented by Pie-charts ? 2 

P.T.O. 
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. (e) If a distribution is open-ended, which measure of variability is most suitable ? 2 

1508 

(j) Show the location of mean, median and mode in a negatively skewed distribution. 2 

~ 'iCflRI<"LlCfi ~ if fcrsrl:r. fC!ct{OI ·"B 11~, 11~ "q:ci ii:l§<:1iCfl ~-~ 

. CfiT ~~~f~q: I 

(g) We are interested in the social anxiety scores of students at our college. We randomly 

select 1 0% of them, administer a test of social anxiety and calculate the mean of the 

obtained scores : 2 

(i) What is the population ? 

(ii) What is the statistic ? 

~ ~ LJ~IfCI'W<:1£1 "B fcrolf$!1 '~ BILJif~Cfl sJS?OCI'"fll ~ll:ctiChl "B ~ % 1· 

~ ~ if 10% "CflT £11<if-60Cfl ~ if ~ %, BILJif~Cfl S:fS?"CI'"fll Cfll -~ "qil~ 

~ % 3lR ~ll:ctic:n1 ~ 11~ cn1 1TURT ~ % 

(i) \if'iB@I CFn ~ ·? 

(ii) Bif&lCfll CFn ~ ? 

8 300 
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